
42

L. 糸ゆるめ関係 / Tension release mechanism
REF.NO CODE Q'TY 品名 NAME OF PARTS RM

1 SB6261001 1 シャフト3X50 SHAFT 3X50
2 SB1192001 2 イトユルメボウヨウブシュ TENSION RELEASE BAR BUSH
3 SB6576101 1 DTソレノイドクミ342H DT SOLENOID ASSY 342H
4 SB1179001 1 ソレノイドクッション SOLENOID CUSHION
5 025040332 1 ヒラザガネダイ４ WASHER PLAIN L 4
6 021400306 1 3シュナット４ NUT 3 M4
7 017401015 1 ボルト4X10 BOLT M4X10
8 SB4380001 1 ソレノイドトリツケイタ SETTING PLATE SOLENOID
9 017400802 1 ボルト4X8 BOLT M4X8
10 028040246 1 バネザガネ2-4 WASHER SPRING 2-4
11 SB3848001 1 ヒラザガネチュウ4 WASHER PLAIN M 4
12 SB6528001 1 テンションソレノイド342H DT TENSION SOLENOID 342H
13 062500816 2 ナベコ５X８ SCREW PAN M5X8
14 SB0787101 1 ソレノイドカバー SOLENOID COVER
15 060400516 2 バインド４X５ SCREW BIND M4X5

BAS-341H/342H-406


